
EQIP FY 2006
Upper South Platte
Screening Tool

Soil Erosion on Cropland/ Rangeland
Applicant Name  ________________________Initials______ Date______
Tract Number(s) __________________________
If this project is converting ALL contracted cropland acres to permanent native vegetation, it is considered a High Priority and no other questions except #4 need to be answered.

1. Will this project include an improvement to the current management system?  (Seeding cropland to grass, higher intensity residue management, etc.)
 
 
Yes:  High





No:  Low

2. Will this project include an enduring vegetative or structural practice that specifically addresses soil erosion concerns on cropland, or does it include No Till/Strip Till?

Yes:  High





No:  Low

3. Will this project control gully or ephemeral erosion?
  

Yes:  High

        



No: Low             N/A

4.    Within the past five years, has this producer had a previous cost-share contract that was cancelled due to lack of progress or were proposed practices previously installed but have failed due to lack of maintenance by the applicant? 

No- High 





Yes- Low


 

After answering all questions, the lowest priority will be used.  Example:  Two answers are high and one answer is low.  The project will be considered a low priority project and will only be funded after the high priority projects have been ranked and funded.

Final Priority Status  



(Circle one)

High






Low
Ranking Criteria FY-06 EQIP

Upper South Platte River Watershed

Soil Erosion on Cropland and Rangeland

Note: Points can only be awarded if practices will be implemented to address the concern.
1) Permanent vegetative cover - The percent of the cropland acreage in the offered tract(s) to be converted to:

1A) adapted native (550) perennial species

a.   < 1% 


  0 pts.
            d.   > 30-60%


45 pts.

b.   > 1-15%


15 pts.     
e.   > 60%


60 pts.
c.   > 15-30%


30 pts.











Points __________
OR
      1B) adapted introduced (512) perennial species:

a.   < 1% 


0 pts. 

d.   > 30-60%


25 pts.
b.   > 1-15%


5 pts. 

e.   > 60%


30 pts
c.   > 15-30%


15 pts.







          

Maximum 60 points (1A or 1B)       Points __________
Note:   Points cannot be given for Permanent Vegetative Cover (1A & 1B) and Soil Quality (2) on the same acreage.

2.   Soil Quality.  A change in the tillage system results in crops being no-tilled/ strip-tilled/ ridge-tilled in the rotation.  Write in the planned crops.  

a. for every no-till/ strip till/ ridge till annual broadleaf crop
12 pts.

b. for every no-till/ strip till summer annual grass crop

  8 pts.


c. for every no-till/ strip till winter annual grass crop 

  6 pts.

Examples:

Annual broadleaf crops: sunflower, dry beans, soybeans, sugar beets, canola

Summer annual grass crops: corn, millet, sorghum

Winter annual grass crops: wheat, barley

Planned Crops ______________________________________________________________

Use a weighted average based on acreage percentages.  For one year contracts, points will be given for that year.  For longer contracts, an average will be used.    







                            
    







(Maximum 12 points)

   Points __________

3A.  Reduced gully and ephemeral gully erosion on cropland.   The amount of land in the offered land unit is adversely affected by ephemeral gully and/or gully erosion:



a.   High = > 50% of land area affected
 20 pts.      c.   Low = < 25% of land area affected   
10 pts.
b.   Medium = 25 – 50% of land area affected
 15 pts.     d.   None = none of land area affected
  0 pts.











Max. 20 points
   Points __________
OR
3B. New ditch lining or pipeline (will address water-induced erosion based on predominant soil type).

     Sandy clay, Clay
25 pts.               Loam, Silty loam
                             10 pts.
     Silty clay, Silty clay loam
20 pts.            Sandy, Loamy sand, Sandy loam
5 pts.   
     Sandy clay loam, clay loam, silt
15 pts.

     


         Max. 25 points   Points _________
OR
3C. Reduced gully erosion on rangeland.  Include areas affected by gully erosion and sedimentation:
Significant Impact  (>= 1 acre)
 50 pts.                Low Impact  (<= .25 acre)
 10 pts.
Moderate Impact   (>.25 acre, < 1 acre)
 30 pts.                No Impact

  0 pts.    




         Max. 50 points     Points ________
         
Points will only be given for 3A or 3B or 3C.
4.     Cost Effectiveness
     A) Total Project Cost (cost share + Producer’s share + incentive payments) $ _____________
     B) Total acres (under contract)
__________ acres
     C) Total cost per acre (3A divided by 3B)   $_________.___  

     D) 1000 divided by 3C (total cost per acre) = ______________   
                         Points ___________
                                                                                                           (Maximum 40 points)
5.     New windbreak or buffer to protect cropland from soil erosion. 

    Must meet practice code 380, 386, 393, or 412.  4 points / practice





                                                           (Maximum 12 points)    Points __________
6.    Contracted acres of new pest Management 

Must meet practice standard 595 (10 pts)      Maximum 10 pts.
         








          

  Points________​​​​___
7.   Estimated Existing Range Condition based on Range Similarity Index.

 RSI
75-100 ---------- 40 pts.
             50-74 ---------- 30 pts.

25- 49 ---------- 20 pts.                             0-24 ---------- 10 pts.             Points __________
8.   Soil Erodibility. Determine the predominant soil type -33% or more of offered land unit (dominant soil in complexes).  Use the data from the soil tables (distributed January, 2004 for each soil survey) for the following factors:

Predominant soil _____________________ I = _____ T = _____  RV = _____ Hyd. Grp. = _____

A.  the Hydrologic Grouping (Runoff Potential) of the soil is:

a.    Low (A)


 4 pts.
    
c.   Moderately high (C)

12 pts.
b.   Moderately low (B)
 
 8 pts.      
d.   High (D)


            15 pts.










    Points _________
            

B. the Representative Slope (RV) is:

a.   0 - 2%


 
  4 pts.

b. > 2 - 4%


 8 pts.

c. > 4 - 6%


12 pts.

d. > 6%



15 pts.


                           Points __________           
C. the Erosion Factors I divided by T (I / T)  [ Example I = 48, T = 5  (48/5= 9.6)]  is:

a. < 12




15 pts.





b. 13 – 18




30 pts.

c. >18 – 30



45 pts.

d. > 30




60 pts.


                Points __________
                        Total Soil Erosion Points: ___________
A MINIMUM OF 40 POINTS MUST BE ACHIEVED TO BE ELIGIBLE

FOR FUNDING CONSIDERATION.

Conservationist _________________________
Date ________________________

Applicant _____________________________
Date ________________________
October, 2005

